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HW #9 – My Solution

ØØ Found motion profile solution in Cartesian Found motion profile solution in Cartesian 
coordinates xcoordinates x00, z, z00

ØØ Found inverse Found inverse kinematickinematic solution in joint solution in joint 
coordinates dcoordinates d11,,θθ22 for each xfor each x00, z, z00
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X displacement (0.01 sec increment)
Displacement x0 - All 4 straight lines
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Z displacement (0.01 sec increment)

Displacement z0 - All 4 straight lines
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Joint 1 - Acceleration

Acceleration a1 - All 4 straight lines
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Joint 1 - Velocity

Velocity v1 - All 4 straight lines
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Joint 1 - Displacement

Displacement d1 - All 4 straight lines
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Joint 2 - Acceleration

Acceleration α2 - All 4 straight lines
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Joint 2 - Velocity

Velocity ω2 - All 4 straight lines
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Joint 2 - Displacement

Displacement θ2 - All 4 straight lines
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HW #9 – Practical Solution

ØØ Found motion profile solution in Cartesian coordinates Found motion profile solution in Cartesian coordinates 
xx00, z, z0 0 –– 0.125 sec increments0.125 sec increments

ØØ Found inverse Found inverse kinematickinematic solution in joint coordinates solution in joint coordinates 
dd11,,θθ22 for each xfor each x00, z, z00

ØØ Linearly interpolate during each 0.125 time incrementLinearly interpolate during each 0.125 time increment
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Joint 1 - Displacement

Displacement d1 - All 4 straight lines
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Joint 1 - Velocity

Velocity v1 - All 4 straight lines
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Joint 2 - Displacement

Displacement θ2 - All 4 straight lines
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Joint 2 - Velocity

Velocity ω2 - All 4 straight lines
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